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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions as directed :
1x7=7
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(a) How many lines are there in a control
chart ?
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(b)

(c)

()

(e)

Which of the components of time series
is applicable to the following case ?

TS R (e T GRSl etz
e '
(i) Fire in a factory.

PRS2 w7901 |

Answer the correct one :

90l ©% TEIH! ot g
() GRR=NRR
(i) GRR < NRR

(i) GRR> NRR

The base period of an index number

must be a period.
(Fill in the blank)

TPFRFS JIRT T fofe (B Bt
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Define law of demand.

vifgn RS 7 fat
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(/ NRR<1 indicates a in the

population. (Fill in the blank)
NRR< 1 @ &PRYS 3|
(! 3% 79 7))

(g) Name the confrol charts which are used
for variables.

DTS M R 31 e wefoaa i fova
2. Answer the following questions ; 2x4=8
TS wwl epTEs Tes g
(@) Write two uses of vital statistics.
(& SARPROI 757 s fBrait |
(b) Define time series with two examples.
75 SRR, et el B |

(c/ What do you mean by assignable
causes of variation.

SRS e Bt e & g@ie

(d) Write a note on base pe_ridd.
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3.

Answer three questions from the following :

ox3=15

wﬁmﬁmﬁ/ﬁﬁrmﬁ;@m:

()

(b)

(c)

(@)

Prove that Fisher’s formula satisfies
Time Reversal Test and Factor Reversal
Test.

et 9 (T FRTT EE R ReSroel o
o Rolrosael A eS|
What are the chief components of time

series ? Describe the semi-average
method of measuring secular trend.

PN 24 TRl & Fe Hddem
#2erel (SR ST NI Ik 1 |

Write a note on the various sources of
vital statistics.
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If the demand function is p=4-5x2,
for what value of x the elasticity of
demand will be unitary ?

% B! 5ifZA oW p = 4 - 5x2 2, (9@ xI ¢
I AR Giftms gl e 272
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(e) Discuss the role of control charts in
controlling the quality of manufactured
products.

T ANTR vrel FageR cRae e
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4. Answer any three from the following

questions : ‘ 10x3=30
wore i Ricrear fofabr ey Tex fordt ¢

(a) Define index number. Discuss various
problems involved in the construction
of index number. 2+8=10

5 kel Tl | I Ao Bed (2Rl
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(b) Describe Pareto’s law. of income
distribution. What type of data will you
need for determining it ? Mention some
situations where Pareto’s law holds
good.
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(/) Define GRR and NRR. Show that

{c) Define crude death rate and specefic
NRR < GRR.

death rate. Also write the merits and
demerits of crude death rate. GRR 1% NRR-F 7@l &l | e @&

i Yo 79 O RFE ToR T KE NRR < GRR|

| oIS i 299 IR S SRR
ferat |

(d) Discuss in detail the X and R charts.
What purpose do they serve ?

X ©% R BT THEIR SeEnsa 341 | Fiere
o Ty A 2

(e) What are different methods of
measuring trend ? Explain how the
least square method is used in
determining straight line trend. Discuss
the merits and demerits of this method.

2+4+4=10
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